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SECTION A — (10 × 2 = 20 marks)

Answer ALL the questions.
1. What is cost accounting?

2. Basic objective of cost accounting is----------------- (Financial Audit / Cost Ascertainment)

3. What is fixed cost and variable cost?

4. Calculate prime cost from the following details:

                                                             `.

            Direct material                   20,000

            Direct labour                        8,000

            Direct expenses                    1,000

5. Explain ABC analysis.

6. Calculate Inventory Turnover ratio:

                                                    Material `.

             Opening stock                    25,000

             Closing stock                     15,000

             Purchases                        1,90,000

7. What is idle time?

8. From the following particulars calculate wages under Rowan plan

                Standard Time      15 hours

                Time Rate             `. 3 per hour

                Time Taken             12 hours

9. What is P/V Ratio?

10. What is the Breakeven point when

      
P/V Ratio is 40% and fixed cost is `. 5,00,000. 
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

11. What are the limitations of cost accounting?

12. The following was the expenditure on a contract for `. 6,00,000 commenced in January 2014. 

Materials- `1,20,000: Wages- `1,64,400: Plant – ` 20,000: Business charges – 8,600.  

Cash received on account up to 31st December 2014 amount to ` 2,40,000 being 80% of work certified. The value of materials on hand at 31-12-2014 was `10,000. Prepare contract account for 2014 showing the profit to be credited to the year’s profit and loss account. Plant is to be depreciated at 10%.

13. List down the merits and limitations of FIFO method.

14. Prepare Stores ledger a/c under LIFO

      
1.1.15 Opening stock 200 units @ `3

      
2.1.15 Received 300 units @ `.4

      
4.1.15 Issued 250 units

     
6.1.15 Received 100 units @ `2

      
10.1.15 Issued 200 units.

15.
Calculate the earnings of a worker under:

      
(i)
Time rate method

(ii)
Piece rate method

            
Standard time – 30 hours

            
Time Taken – 20 hours

Hourly rate of wages is Re.1 per hour plus a D.A. @ ` 0.50 paise per hour worked. 

16.
Calculate Labour turnover under.

      
(i)
Separation Method

     
(ii)
Flux method

            
Total no. of employees at the beginning                           2010

            
Total no. of employees at the end                                     1990

            
No. of employees resigned                                                   30

            
No. of employees discharged                                               50

            
No. of employees replaced                                                   40

17.
Margin of safety ratio is 20%

          
P/ V ratio is 60%

          
Fixed cost = ` 60,000

 Find out: 
(a)
BEP sales 
(b)
Actual sales for the year 
(c)
Variable cost for the year 
(d)
Profit for the year.

18.
The fixed cost per month in a factory is `50,000. The contribution per unit is `50 for product A and `25 for B. Which of the following product mixes is most yielding?

(a) 800 A and 1,000 B                        
(b) 1,500 A only;


(c)
3,000 B only;
            (d)  
1,200 A and 400 B
SECTION C — (2 × 15 = 30 marks)


Q.No. 19 is compulsory and any ONE from the rest of two questions.
19.
From the following data which product would you recommend to be manufactured in a factory, time being the key-factor?

	
	Per unit of product

	
	A(`)
	B(`)

	Direct materials (`)
	24
	14

	Direct labour at Re.1 per hour
	2
	3

	Variable overhead at `. 2 per hour
	4
	6

	Selling price
	100
	110

	Standard time to produce (hrs)
	2
	3


Presume direct labour hours available are only 3,000 and maximum possible production for each of the products (A and B) is 1,000 units.  

Determine the product mix which can give maximum possible profit.

19. Two components A and B are used as follows:

      
Re-order quantity    : A = 3,000 units.

                                        
B = 4,000 units.
             

      
Re-ordering period  : A = 4 to 8 weeks.

                                                  2 to 4 weeks.

     
Normal usage           : 3,000 units per week each

     
Minimum usage       : 1,500 units per week each

     
Maximum usage      : 4,500 units per week each

     
You are required to calculate for each of the components.

(a) Maximum stock level

(b) Minimum stock level

(c) Average stock level

(d) Re-order level.

20. The modern company has three production departments, A, B and C and two service departments, D and E. The following are extracted from the records of the company for the month of March 2015.  

                                 Particulars                                  `
                     Rent and rates                                     20,000

                     Indirect wages                                      6,000

                     Depreciation of machinery                 40,000

                     Power                                                   6,000

                     General lighting                                   2,400

                     Sundries                                              40,000

      
The following further details are as given:

Floor space (sq. ft)                20,000        4,000          5,000        6,000        4,000         1,000

Horse power of machines         300           120              60           100            20              -----

Light points                              120             20              30             40            20               10

Direct wages (`)                20,000       6,000           4,000         6,000        3,000         1,000

Value of machinery (`)    5,00,000    1,20,000      1,60,000    2,00,000     10,000      10,000


Prepare primary overhead distribution summary.


[P.T.O.]
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